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Question 1: Mark (T) for true or (F) for false
                                                                                                                                                     
A. Descriptive statistics is Methods and procedures for  summarizing and inferring data
 (   F   )
B. Inferential statistics is defined as Methods used to make statements about population based on information gathered from sample withdrawn from this population. (  T  )
C. Measures of central tendency are Mean, Median and Mode. (  T   )
D. The relationship of the sample size and standard error of the mean is directly proportional. (  F )
E. Standard deviation is used  when presenting your results to people with little or no knowledge of statistics. (  F  )
F. Box plot is used for comparing and for defining the outliers.( T  )
G. Standard error is always smaller than standard deviation. ( T )
Question 2: choose the correct answer:

1. One of the following can be used for both numerical and ordinal data                        
 BUT NOT nominal
a. Mean.
b. Median.
c. Mode.
d. None of the above.


2.One of the following is NOT CORRECT regarding MODE:
a. Can be applied for both numeric and categorical.
b. Data set can have one, 2 or more modes.
c. Data set can have NO mode at all
d. Mode is the arithmetic average.

3. Measures the dispersion (or spread) of figures around the mean.
a. Variance.
b. Variation coefficient.
c. Standard deviation.
d. Standard error of the mean.

4. Compare variability of a variable in two different sets of data
a. Mean.
b. Standard deviation.
c. Variability coefficient.
d. None of the above.








5.  This scatter graph shows you the relationship between head circumference and forearm length, what kind of relationship this graph shows?
a. linear relationship between the variables.
b. No relationship.
c. Exponential relationship.
d. Inverse relationship.

[image: ]
6. this plot is called....................... it is used for........................
 a. Bar chart---used to identify data shape.
b. Histogram---used to identify data shape. 
c. Histogram---used for small data sets.
d. Bar chart....used for measurement data.                                                                                                                                                                           
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;; (Microsoft Win32 Intel 386)  HOOPS 4.12-3 I.M. 3.00-3
(Selectability "windows=off,edges=on!,faces=on,lights=on,lines=on!,markers=on,i
mages=on,text=on,string cursors=on")
(Visibility "on")
(Color_By_Index "Geometry,Face Contrast" 1)
(Color_By_Index "Window" 0)
(Window_Frame "off")
(Window -1 1 -1 1)
(Camera (0 0 -5) (0 0 0) (0 1 0) 2 2 "Stretched")

;; (Driver_Options "debug=41984,disable input,fixed colors=125,light scaling=0,
;; subscreen=(-0.999902,0.326271,-0.99987,0.260548),subscreen stretching,no upd
;; ate interrupts,use colormap id=-1006107314,use window id=25691410")
(Edge_Pattern  "---")
(Edge_Weight 1)
(Face_Pattern "solid")
(Heuristics "no related selection limit")
(Line_Pattern  "---")
(Line_Weight 1)
(Marker_Size 0.421875)
(Marker_Symbol ".")
(Text_Font "name=arial-gdi-vector,no transforms,rotation=follow path")
(User_Options "angle=0,arrowdir=0,arrowstyle=0,polygon=0,isdata=0,mtb aspect ra
tio=0.713235,graphicsversion=5,optiplot=0,toplayer=0,textfollowpath=1,ldfill=0,
solidfill=0,3d=0,usebitmap=0,canbrush=0,brushrows=64,light scaling=.00000")
(Segment "include" ())
(Front ((Segment "figure1" (
    (Window_Pattern "clear")
    (Window -1 1 -1 1)
    (User_Options "viewinfigurecoord=0")
    (Front ((Segment "region" (
	(Front ((Segment "figure box" (
	    (Visibility "polygons=off,lines=off")
	    (Color_By_Index "Face" 0)
	    (Color_By_Index "Face Contrast,Line,Edge" 1)
	    (Edge_Pattern  "---")
	    (Edge_Weight 1)
	    (Face_Pattern "solid")
	    (Line_Pattern  "---")
	    (Line_Weight 1)
	    (User_Options "solidfill=1")
	    (Segment "" (
	      (Polygon ((-0.99995 -0.99995 0) (0.99995 -0.99995 0) (0.99995 
		 0.99995 0) (-0.99995 0.99995 0) (-0.99995 -0.99995 0)))))))
	  (Segment "data box" (
	    (Visibility "faces=off")
	    (Color_By_Index "Face" 0)
	    (Color_By_Index "Face Contrast,Line,Edge" 1)
	    (Edge_Pattern  "---")
	    (Edge_Weight 1)
	    (Face_Pattern "solid")
	    (Line_Pattern  "---")
	    (Line_Weight 1)
	    (User_Options "solidfill=1")
	    (Segment "" (
	      (Polygon ((-0.59997 -0.59997 0) (0.59997 -0.59997 0) (0.59997 
		 0.59997 0) (-0.59997 0.59997 0) (-0.59997 -0.59997 0)))))))
	  (Segment "legend box" ())
	  (Segment "legend" (
	    (Window_Pattern "clear")
	    (Window -1 1 -1 1)
	    (User_Options "viewinfigurecoord=1")
	    (Front ((Segment "symbol1" ())))))))))
      (Segment "object" (
	(Front ((Segment "frame" (
	    (Window_Pattern "clear")
	    (Window -1 1 -1 1)
	    (Front ((Segment "tick" (
		(Front ((Segment "set1" (
		    (Color_By_Index "Face Contrast,Line,Text,Edge" 1)
		    (Edge_Pattern  "---")
		    (Edge_Weight 1)
		    (Line_Pattern  "---")
		    (Line_Weight 1)
		    (Text_Alignment "^*")
		    (Text_Font "name=arial-gdi-vector,size=0.03477 sru")
		    (Segment "" (
		      (Text 0.447662 -0.669966 0 "62")))
		    (Segment "" (
		      (Text -0.0497402 -0.669966 0 "57")))
		    (Segment "" (
		      (Text -0.547142 -0.669966 0 "52")))
		    (Segment "major" (
		      (Segment "" (
			(Front ((Polyline ((0.447662 -0.59997 0) (0.447662 
			     -0.639968 0)))))))
		      (Segment "" (
			(Front ((Polyline ((-0.0497402 -0.59997 0) (-0.0497402 
			     -0.639968 0)))))))
		      (Segment "" (
			(Front ((Polyline ((-0.547142 -0.59997 0) (-0.547142 
			     -0.639968 0)))))))))))
		  (Segment "set2" (
		    (Color_By_Index "Face Contrast,Line,Text,Edge" 1)
		    (Edge_Pattern  "---")
		    (Edge_Weight 1)
		    (Line_Pattern  "---")
		    (Line_Weight 1)
		    (Text_Alignment "*>")
		    (Text_Font "name=arial-gdi-vector,size=0.03477 sru")
		    (Segment "" (
		      (Text -0.669966 0.549146 0 "32")))
		    (Segment "" (
		      (Text -0.669966 0.436234 0 "31")))
		    (Segment "" (
		      (Text -0.669966 0.323323 0 "30")))
		    (Segment "" (
		      (Text -0.669966 0.210411 0 "29")))
		    (Segment "" (
		      (Text -0.669966 0.0974993 0 "28")))
		    (Segment "" (
		      (Text -0.669966 -0.0154124 0 "27")))
		    (Segment "" (
		      (Text -0.669966 -0.128324 0 "26")))
		    (Segment "" (
		      (Text -0.669966 -0.241236 0 "25")))
		    (Segment "" (
		      (Text -0.669966 -0.354148 0 "24")))
		    (Segment "" (
		      (Text -0.669966 -0.467059 0 "23")))
		    (Segment "" (
		      (Text -0.669966 -0.579971 0 "22")))
		    (Segment "major" (
		      (Segment "" (
			(Front ((Polyline ((-0.59997 0.549146 0) (-0.639968 
			     0.549146 0)))))))
		      (Segment "" (
			(Front ((Polyline ((-0.59997 0.436234 0) (-0.639968 
			     0.436234 0)))))))
		      (Segment "" (
			(Front ((Polyline ((-0.59997 0.323323 0) (-0.639968 
			     0.323323 0)))))))
		      (Segment "" (
			(Front ((Polyline ((-0.59997 0.210411 0) (-0.639968 
			     0.210411 0)))))))
		      (Segment "" (
			(Front ((Polyline ((-0.59997 0.0974993 0) (-0.639968 
			     0.0974993 0)))))))
		      (Segment "" (
			(Front ((Polyline ((-0.59997 -0.0154124 0) (-0.639968 
			     -0.0154124 0)))))))
		      (Segment "" (
			(Front ((Polyline ((-0.59997 -0.128324 0) (-0.639968 
			     -0.128324 0)))))))
		      (Segment "" (
			(Front ((Polyline ((-0.59997 -0.241236 0) (-0.639968 
			     -0.241236 0)))))))
		      (Segment "" (
			(Front ((Polyline ((-0.59997 -0.354148 0) (-0.639968 
			     -0.354148 0)))))))
		      (Segment "" (
			(Front ((Polyline ((-0.59997 -0.467059 0) (-0.639968 
			     -0.467059 0)))))))
		      (Segment "" (
			(Front ((Polyline ((-0.59997 -0.579971 0) (-0.639968 
			     -0.579971 0)))))))))))))))
	      (Segment "grid" ())
	      (Segment "reference" ())
	      (Segment "axis" (
		(Front ((Segment "set1" (
		    (Color_By_Index "Face Contrast,Line,Text,Edge" 1)
		    (Edge_Pattern  "---")
		    (Edge_Weight 1)
		    (Line_Pattern  "---")
		    (Line_Weight 1)
		    (Text_Alignment "^*")
		    (Text_Font "name=arial-gdi-vector,size=0.04347 sru")
		    (Segment "" (
		      (Text 1.49004e-8 -0.784119 0 "Head circumference (in cm)"
		       )))
		    (Segment "" (
		      (Front ((Polyline ((-0.579971 -0.59997 0) (0.579971 
			   -0.59997 0)))))))))
		  (Segment "set2" (
		    (Color_By_Index "Face Contrast,Line,Text,Edge" 1)
		    (Edge_Pattern  "---")
		    (Edge_Weight 1)
		    (Line_Pattern  "---")
		    (Line_Weight 1)
		    (Text_Alignment "*>")
		    (Text_Font "name=arial-gdi-vector,size=0.04347 sru")
		    (Text_Path 6.12303e-17 1 0)
		    (Segment "" (
		      (Selectability "polygons=on!,text=off")
		      (Visibility "polygons=off")
		      (Text_Alignment "v>")
		      (Text_Path 0 1 0)
		      (User_Options "angle=90,polygon=3,linect=1,charct=20")
		      (Polygon ((-0.844723 -0.375809 0) (-0.844723 0.360175 0) 
			(-0.738157 0.360175 0) (-0.738157 -0.375809 0)))
		      (Renumber (Text -0.764799 -0.375809 0 "Left forearm (in c
m)") 1 "L")
		      (Segment "raw" (
			(Visibility "off")
			(Renumber (Text 0 0 0 "Left forearm (in cm)") 1 "L"))))
		     )
		    (Segment "" (
		      (Front ((Polyline ((-0.59997 -0.579971 0) (-0.59997 
			   0.579971 0)))))))))))))))))
	  (Segment "data" (
	    (Window_Pattern "clear")
	    (Window -0.58 0.58 -0.58 0.58)
	    (User_Options "isdata=1,viewinfigurecoord=1")
	    (Front ((Segment "symbol1" (
		(Segment "points" (
		  (Color_By_Index "Marker" 1)
		  (Marker_Size 0.421875)
		  (Marker_Symbol "@")
		  (User_Options "canbrush=1,brushsetup=0,grouping=0")
		  (Segment "" (
		    (User_Value 64)
		    (Marker -0.222973 0.168102 0)))
		  (Segment "" (
		    (User_Value 63)
		    (Marker -0.428795 0.362778 0)))
		  (Segment "" (
		    (User_Value 62)
		    (Marker -0.085759 -0.0265732 0)))
		  (Segment "" (
		    (User_Value 60)
		    (Marker 0.343036 0.460115 0)))
		  (Segment "" (
		    (User_Value 59)
		    (Marker -0.257277 0.557453 0)))
		  (Segment "" (
		    (User_Value 58)
		    (Marker -0.171518 -0.221249 0)))
		  (Segment "" (
		    (User_Value 57)
		    (Marker -0.737527 0.26544 0)))
		  (Segment "" (
		    (User_Value 56)
		    (Marker -0.343036 0.849466 0)))
		  (Segment "" (
		    (User_Value 55)
		    (Marker 0.085759 0.557453 0)))
		  (Segment "" (
		    (User_Value 54)
		    (Marker -0.240125 0.26544 0)))
		  (Segment "" (
		    (User_Value 53)
		    (Marker -0.137214 -0.123911 0)))
		  (Segment "" (
		    (User_Value 52)
		    (Marker -0.771831 -0.415924 0)))
		  (Segment "" (
		    (User_Value 51)
		    (Marker -0.360188 0.18757 0)))
		  (Segment "" (
		    (User_Value 50)
		    (Marker 0.171518 0.26544 0)))
		  (Segment "" (
		    (User_Value 49)
		    (Marker 0.428795 0.26544 0)))
		  (Segment "" (
		    (User_Value 48)
		    (Marker 0.463099 0.654791 0)))
		  (Segment "" (
		    (User_Value 47)
		    (Marker -0.463099 0.168102 0)))
		  (Segment "" (
		    (User_Value 46)
		    (Marker 0.943349 0.168102 0)))
		  (Segment "" (
		    (User_Value 45)
		    (Marker -0.257277 -0.318586 0)))
		  (Segment "" (
		    (User_Value 44)
		    (Marker -0.257277 0.557453 0)))
		  (Segment "" (
		    (User_Value 43)
		    (Marker 0.343036 -0.318586 0)))
		  (Segment "" (
		    (User_Value 42)
		    (Marker 0.085759 0.362778 0)))
		  (Segment "" (
		    (User_Value 41)
		    (Marker -0.428795 0.26544 0)))
		  (Segment "" (
		    (User_Value 40)
		    (Marker -0.257277 -0.221249 0)))
		  (Segment "" (
		    (User_Value 39)
		    (Marker 0.291581 -0.707937 0)))
		  (Segment "" (
		    (User_Value 38)
		    (Marker -0.085759 0.0707645 0)))
		  (Segment "" (
		    (User_Value 37)
		    (Marker -0.943349 -0.415924 0)))
		  (Segment "" (
		    (User_Value 36)
		    (Marker -0.171518 -0.415924 0)))
		  (Segment "" (
		    (User_Value 35)
		    (Marker -0.411643 -0.318586 0)))
		  (Segment "" (
		    (User_Value 34)
		    (Marker 0.085759 0.946804 0)))
		  (Segment "" (
		    (User_Value 33)
		    (Marker -0.497402 0.34331 0)))
		  (Segment "" (
		    (User_Value 32)
		    (Marker 0.171518 0.0707645 0)))
		  (Segment "" (
		    (User_Value 31)
		    (Marker -0.257277 -0.415924 0)))
		  (Segment "" (
		    (User_Value 30)
		    (Marker -0.085759 -0.415924 0)))
		  (Segment "" (
		    (User_Value 29)
		    (Marker -0.085759 -0.415924 0)))
		  (Segment "" (
		    (User_Value 28)
		    (Marker -0.943349 0.168102 0)))
		  (Segment "" (
		    (User_Value 27)
		    (Marker -0.085759 -0.0265732 0)))
		  (Segment "" (
		    (User_Value 26)
		    (Marker -0.411643 0.752128 0)))
		  (Segment "" (
		    (User_Value 25)
		    (Marker -0.686072 -0.221249 0)))
		  (Segment "" (
		    (User_Value 24)
		    (Marker 0.600313 -0.415924 0)))
		  (Segment "" (
		    (User_Value 23)
		    (Marker 0.0343036 0.0707645 0)))
		  (Segment "" (
		    (User_Value 22)
		    (Marker -0.394491 0.0707645 0)))
		  (Segment "" (
		    (User_Value 21)
		    (Marker -0.600313 0.207037 0)))
		  (Segment "" (
		    (User_Value 20)
		    (Marker 0.222973 0.168102 0)))
		  (Segment "" (
		    (User_Value 19)
		    (Marker 0.222973 0.207037 0)))
		  (Segment "" (
		    (User_Value 18)
		    (Marker -0.85759 -0.610599 0)))
		  (Segment "" (
		    (User_Value 17)
		    (Marker 0.428795 0.362778 0)))
		  (Segment "" (
		    (User_Value 16)
		    (Marker -0.257277 -0.221249 0)))
		  (Segment "" (
		    (User_Value 15)
		    (Marker -0.428795 0.557453 0)))
		  (Segment "" (
		    (User_Value 14)
		    (Marker -0.428795 0.362778 0)))
		  (Segment "" (
		    (User_Value 12)
		    (Marker -0.411643 0.323842 0)))
		  (Segment "" (
		    (User_Value 10)
		    (Marker -0.720376 -0.435391 0)))
		  (Segment "" (
		    (User_Value 9)
		    (Marker -0.428795 0.168102 0)))
		  (Segment "" (
		    (User_Value 8)
		    (Marker -0.257277 0.362778 0)))
		  (Segment "" (
		    (User_Value 7)
		    (Marker -0.343036 -0.824742 0)))
		  (Segment "" (
		    (User_Value 6)
		    (Marker 0.171518 0.362778 0)))
		  (Segment "" (
		    (User_Value 5)
		    (Marker -0.257277 -0.318586 0)))
		  (Segment "" (
		    (User_Value 4)
		    (Marker -0.085759 -0.513262 0)))
		  (Segment "" (
		    (User_Value 3)
		    (Marker 0.600313 0.168102 0)))
		  (Segment "" (
		    (User_Value 2)
		    (Marker -0.771831 -0.318586 0)))
		  (Segment "" (
		    (User_Value 1)
		    (Marker -0.0514554 0.401713 0)))))))))))))))
      (Segment "labels" (
	(Window_Pattern "clear")
	(Window -1 1 -1 1)))
      (Segment "annotation" (
	(Window_Pattern "clear")
	(Window -1 1 -1 1)
	(Front ((Segment "text1" (
	    (Color_By_Index "Text" 1)
	    (Text_Alignment "^*")
	    (Text_Font "name=arial-gdi-vector,size=0.05216 sru")
	    (Segment "" (
	      (Text 0 0.938995 0 "Lengths of left forearms and head circumferen
ces")))))
	  (Segment "text2" (
	    (Color_By_Index "Text" 1)
	    (Text_Alignment "^*")
	    (Text_Font "name=arial-gdi-vector,size=0.05216 sru")
	    (Segment "" (
	      (Text 0 0.78996 0 "of Spring 1998 Stat 250 Students")))))
	  (Segment "text3" (
	    (Color_By_Index "Text" 1)
	    (Text_Alignment "v<")
	    (Text_Font "name=arial-gdi-vector,size=0.03477 sru")
	    (Segment "" (
	      (Text -0.979951 -0.979951 0 "n=89 students")))))))))))))
  (Segment "annotation" (
    (Window_Pattern "clear")
    (Window -1 1 -1 1)
    (User_Options "toplayer=1")))))
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